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|1f|§ 2[=0 then x is equal to .............. atlz X In I; ii_oj, ¢))
9 @M 6© -6 (B 9 A
Imaginary part of -i(3i + 2) i§ .o - GG+ D) A | D
-3 D) 3 © 2 B -2 W
log m" can be written as ............. | 4.5%!1 S logm® | (3)
logmn (D) niogm ()  mlogn @) (ogm) (A
Conjugate of surd a+ Vb i8 ... - G b2ts3¢ a+ Vb F1Ai | (4)
Va-vb @ Varvb © a-vb @B -a+vb A
What will be added to complete the square of 92> —12ab Ly /B bd-Liud S8 9a2 —124b | (5)
4" D) 4P ©  166°®B) -16b* (A
The square 100t of x* + = +2 i§ e ; . - Bk x*+2+2 | (6)
$E-ZI D £x-31O©  £+II® ix+i] @
x =0 is asolution of the inequality .......... | oS Her S Lot x=0|(D
x-2<0 D) x+2<0W© Ix+5<0 B x>0 A
I y=2x+1, x=2 then y i commrrree ez y Iny=2x+1,x=2 /1| ®
' 5 (D) 4 (O 3 ® 2 (A
‘A triangle having all sides equal is called P T sun WS AR £ e S | (9)
None of these (/e ter (D) Equilateral ¢uspifss (C) Scalene ¢uxuii¥ (B) Isosceles c2Wifsls (A
Two lines can intersect only at .......... point BESE B S ¥e | (10)
One i (D) Zero M (O Three & (B) Two » (A)
In a parallelogram opposite sides are .................. 9.2 SUSS— 1 Y g 15 ARG
Unequal /¢ (D)  Congruent J*(C) Perpendicular ¥ (B)  Concurrent A5 (A)
fEnd il e LB bnliginsnt L8 L21581 | (12)
Any point on the right bisector of a line segment is equidistant from its ........... Points
- | Any point 43¢’ (D) Vertex v (C) Endpoint 1,¢#T(B) Mid point 7, (A)
A line segment has ................. mid point B2 stlen L5 s L/Kis 5L | (13)
| Four J; (D) Three ¢f (C) Onlyone i~ (B) Two 2 (A)
AL e LU hsss L1 S MBS 575T | (14D
Area of a parallelogram is equal to the ........... of base and height :
Ratio =’ (D) Product .}t (C) Difference J/ (B) Sum % (A
sty sty Lt | (A5
If the three altitudes of a triangle are congruent then the triangle is .............
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Q. No. 2 Write Six short answers to the following 2x6 = 12 Iy Y Lebrgedtidivn 240
Define Transpose of a matrix YA AB|
'IC=[1 -1 2] thenfind3C & 3c je=[1 -1 21 /|2
Write the conjugate of -4 -i 44 Zusivl3
Calculate Z+Z If Z=2+i b 247 72=2+i Si|4
Find the value of x log“8=§ logs, 8 = E )’!ijp"‘:.fgfx 5
Calculate logs 3 x logs 25 logs 3 x logs 25 2_;_."{()".;3 6
Simplify (3+/3)(-v3) GB+/3)GB-3) & & |7
If x=4-v17 , find Lopdf 2 x=4-VI7 /1|8
Factorize 144a’ +24a + 1 1446% + 242+ 1 2207 | 9

Q. No.3 Write Six short answers to the following  2x6 =12 c:i:(/ 1z Lty g fditn 3 Ay
Use factorization to find the square root of the expression =1+ :? %?:"‘d)bigb’&d ik | 1
Solve the equation vZx -3 -7=0 VZx =3 -71=0 S bl |2
Define linear equation 2y Jlabiagas |3
Define x-axis and y-axis 2y Py x| 4
%?nggd"c’ul‘m’ﬂfﬁutygf y=mx+c¢ f3x+y-1=0 bl |5

Find the value of ‘m’ and ‘c’ by expressing line 3x+y-1=0 intheform y=mx+c¢

Find the distance between pairs of points AG,2) , B(7,2) b e nLsin 48 | 6
Define square %{J/"Lfﬁf 7
State S.A.A = S.A.A postulate o1 = 3T | 8
Define parallelogram P Spemsn | 9

Q. No. 4 Write Six short answers to the following  2x6 =12 ¢_'£f ez Lty g flibn 4 Adir

Define bisector of a line segment : ’d_‘—f AL | 1
3cm, 4em, 5Sem Sutduattupd Sl et ity | 2

Is the set of lengths be the length of a triangle 3 cm, 4cm, 5cm
Define ratio - Pl |3

a=5cm,b=12cm,c=13cm wugud’w,,lﬂiﬁ?uﬁydm»fé—(ﬁﬂ 4
Verify the triangle having the following measure of sides is right angle 2=5cm, b=12cm,c=13 cm
Find the value of ‘x’in the figure a g##ng‘x'wwd, 5

1Scm 13 cm

B x DSemC

Define area of a figure ’d;—f..g/"gf.g“;ﬁfu’( 6 |
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Find the area of the given figure '4‘?}"’.}'%&6’6: 7

L]
16 cm

mAB=32cm , mBC=42cm, mCA=52cm L%k ABC &P
Constructa A ABC inwhich mAB=32cm , mBC=4.2cm, mCA=52cm

Define Incentre of a triangle g P 5T plummar® et | 9

r”/
8x3=24 <y 9 /dur.éé;_‘r izl ird Je ko
'NOTE : Attempt THREE questions in all whereas question No. 9 is compulsory

L

Solve by Cramer’s Rule  3x-2y =1 2y=1 & Seuldut/
2x+3y=2 2x+3y=2

e : (216)2/3 xg'zs)’«ﬂ (216)2/3 x(25)1/2 >
Sunghly (04)=1/2 (09)"1/2 4-{ ~

(A)-5

B)

(8.97)3x(3.95)% (8.97)3x(3.95)%> ., .
Use log table to find the value of 5 ——— e Lol ul SY

@?ﬁ‘fzd’(x-i)z »l x—-)l: Inx=2+v3 /i
If x=2+v3,find the values of x —> and (x -

(A)-6

®)

Factorize 9x* +36y" : ox* + 36y* ’4'.‘.:5;

Find HCF by divisionmethod  ©+38—16x+12 , ®+x-10x+8 ek 2

(A7

4:))

Solve the inequality -3 < ’—:—5‘3 <4 3< % <4 %(J'f:,;,p/j

mAB=24cm ,mAC=32cm , mz A=120° 4j St CLAL Jiniet: ABC & |

Construct the triangle ABC and draw the perpendicular bisector of its sides
mAB=24cm ,mAC=32cm , mz A=120°

(A)-8

@)

Crt LA sl s /A’_B.nﬂﬁu?xﬁu{.wd;/ Ly Bl lfr__‘!{ o
Prove that any point on the Right bisector of a line segment is equidistance from its end points

OR/

Sumsizct 3muna B sl niuntipns s fin 2 Sl
Prove that triangles on the same base and of the same (i.c equaD Altitudes are equal in arca

~NE FOW LY 1010 onninh
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O b roid st S S ME S Dimgiell S A e ifi 1S
LAdr
2 1 | 2
Order of transpose of [0 1} | Je—— ? COPRERAIO, I 12E [0 1] <0 | (D
3 2 ' 3 2
3byl O 1by3 (C) 3by2 (B) 2by3 A
(31-56—)*1/2 Wi ; (%)-1/2 - @
2D 2o P ® W
B s thehe o, In a*=n 1| Q)
a=logy (D) x=log) (C) x=logd M) a=logl (A
o B ® 2 g%b = —— @
TN A o7 © 05 B 57 W
- The factors of x* —5X+ 6 are ... B0 L X2~ 5x+6 | (5)
| x-2,x-3 MO x+6,x=1 (O x+2,x+3 B &-1,E-6) (A)
L.CM of a*+b* and a*-b* is e J1iuonif at —b* L 22+ 1 | (6)
a-b M a'-b* (© a’-bF B a2+b A
-0 ofpertefidfer <,>,SOR = EPl0kdi| (D
A statement involving any of the symbol <,>, < OR = is called
Equation =il (C) Identity sevnd Lod o§ 2l (B) Inequality wisis Z (A)
Linear equation <=hlsGut (D)
Ify=2x+1,x=2 theny= .. ; ' Y = s I Y=2X+1 , x=2 N ®
5M 4© 3@ 2MW
Distance between the points (1 , 0) and (0, 1) is P Lol ¥ (0, Dot (1,00 46| (9) |
2D V2 © 1® 0
Two lines can intersect ... WEL 155 | (10) |
| Atthreepoints (8¢ (C) Attwo points (s (B) Only at one point ¢dsifhi” (A)
At four points (5.6 (D)
In a parallelogram opposite sides arec .................. B A LI Lo | (11)
Intersect Ls./% (D) non congruent fi> 2 (C) non parallel (i ¢ (B) Congruent U+ (A
The right bisector of three sides of a triangle are ........ . dln St Lwysr Ll | (12)
Parallel (i (D) Concurrent 4% (C) Collinear ofys (B) Congruent Ji (A)
Ifa:b=c¢:d thena,b,c andd are said to be L!{J.r!d #c‘ba YJi»dys a:b=c:d S a3
Unequal sz (D) Equal /i, (C) Ratio =+’ (B) Proportion ¢ (A)
Area of given Figure is 4cm e KPS | (18
16cm? (D) | 12cm® (C) 8cm® B) 4em’ (A
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Q. No. 2 Write Six short answers to the following 2x6 = 12 g’f.{r"d.z.uxﬁ.cumf,;a.ucdm 24U

&ow 3A-2B B =[ °

j J A [ ""2])1
3 8l° 3
If A=[; ‘42] and B=[ O 7)thenfind 3A-2B *

1

-3 8
Define square matrix and give an example : ’A_S&;,ti-g! AlE, | 2
Simplify and write your answer in the form a+bi (V5 -3 2P a+bi Soirginif P |3
Simplify (2)~*/? ()P &# |4
Find the value of x from the following statement logs.8 = § ’4‘?#.:-{ $ x LaboLissr | 5
Write in the form ofsingle logarithm 2 logx—3 logy 2logx—-3logy g&d’Jﬂﬂm 6
Factorize 8x’ "27,73 | sf-# ez 7
Simplify (V5 ++v3 % WE+V3P &7 |8
L x=2) /38 -10%+ 13x -6 F2F b fiendliz | 9

Use the remainder theorem to find the remainder when 3x’ ~ 10x* + 13x — 6 is divided by x —2

Q. No.3 Write Six short answers to the following = 2x6=12 <&, feyz P Laivgaldin 3 Ay

Use factorization to find the square root of the expression  4x* — 12xy + 9y> &8 Jusklagd i | 1
Solve the equation V3x +4 =2 V3xT 4 =2 S fem |2
Solve for x [2x+5|=11 | Px+5|=11 ZfLL x|3

%?szgf‘c’m‘m’éfﬂgﬁd"gf y=mx+c £ 2x=y+3 abl- |4

Find the value of ‘m’ and ‘c’ by expressing line 2x =y + 3 inthe foomof y=mx+c¢

Define origin Lajbiv|s
Find the distance between pairs of points AG,-11) , B3, -4 L ope i nLussn £36 | 6
Find the midpoint between pairs of points AG,2) , B(7,2) ol B kunsnLis | 1
State A.S.A = A.S.A postulate S garrial D 2P | 8
Define parallelogram ey P Sewsne | 9
Q. No. 4 ‘Write Six short answers to the following  2x6=12 & 7z Lativge Llitn 4 Adr
‘What do you mean by bisection of an angle ? e e Sy | 1
ety e SUSE st IS Lot SEHudFuns 8 w1 (6 ¢ 10 UpISLunL et fif | 2
If 10 cm, 6 cm and 8 cm are the lengths of a triangle , then verify that sum of measures of two sides of a
triangle is greater than the third side | -
Define congruent triangles &y S | 3

Wi ctnt bl I L LI/ x w17 X ¢ 8 ZAURHSUIHL At g | 4

The three sides of a triangle are measure 8 , x and 17 respectively. For what value of x will it become
base of a right angled triangle ?

Find the value of x Eopodf x| 5
6 cm m cm
' X
Define Rectangular Region - P53 |6
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| Find the area of the given figure 6 cm o J A PTG | T

3cm

Define point of concurrency | _ ;gf_gid',wﬁ :
R mXV=55cm , mZX=45cm, mszZ=90° L&k XYZ &8 |9

Csmmuet& AXYZ inwhich mXV=55cm, mZX=45em, msZ=90° |

(122 -
8x3=24 w61 9 v e arLatrd Seifou
NOTE : Attempt THREE questions in all whereas question No. 9 is compulsory

@By =B'A* sfyamm= 1 2] A= [ 3]

€5l Bl

J3 5| thenverify that (ABY=BA"

Siomplify o ERE i

(A)-5

B)

0.678 x 9.01 0678 x9.01
Use log table to find the value of — —— T 4"'(,1':.,4{(';(}

Lo I8 - 27y Inxy =2 s 2x-3y=10 /i
If 2x~3y =10 and xy=2 then find the value of 8x’ 27y’

B)

Pactorize S G2+ 5% + 4Xx%+ 5x + 6) - 3 g

implify 2y247y-4 | 4y*-1 2y247y~4 _  4y*-1 s
Simg 3y2-13y+4  6yZ+y-1 ' 3y2-13y+4  6y?+y-1 _/i!f

(A)-7

B)

Solve the equation 212 ox x#1 S Sl

3 x-1

mAB=4.5¢cm ,mBC=3.1cm andmCA=5.2cm .& é‘;..m Cupniet: ABC ats
Construct the A ABC and draw the bisectors of its angles
" mAB=4.5cm ,mBC=3.1cm andmCA=5.2cm

(A)-8

B)

DL BBt LY Ladins S o
Prove that the right bisectors of the sides of a triangle are concurrent
OR/ }
Sunseltin (ux,gf.(wﬂlu&)unéhwyuévu/ d)f?Luu,lgumdlarwbmﬁﬂ?éwﬁo.ﬁf d_!{ =t
| Prove that parallelogram on the same base and between the same pérallél lines (or of the same altitude)

arms sarmal il‘\ aressg




